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Jor the questions

1. ©% eIl 3 Shyeq -

1x5=5
Select the correct answer :

(@) O @ 9 oz o1 o= Fee

Whether 2 test is one-sided or
two-sided depends on

() Ros1 o3 oo
alternative hypothesis

(i) A ey @oms

Composite hypothesis
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(b)

(c)
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(2)

(i) RE 451 e
null hypothesis

(iv) ¥ AT SqS
simple hypothesis

9 2 x 2 IFS! OFFR ey T 2'g

The degrees of freedom for a 2x2
contingency table is

i) 3
i 1.
(iii) 4
(iv) eI Bt =g
None of the above
ARG BF AR AP ___ T o1 R
B eige e 3|

Ordinary sign test is based o
of deviation of observations

(i) Jig
mean
(@) sg
median
(iii) W'
mode

(iv) ST @Ble 7=y
None of the aboye

n the sign
from
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(@)

(e)
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( 3)

o7l Rese *=ihl Ao PR

The term analysis of variance was
introduced by

(i) 1. q. R
R. A. Fisher
(i) TN NS
Kolmogorov
(iii) N TS
Gauss Markov

(iv) €97 18 T
None of them

<1 T 4 SRPEAS S
A randomized block design has

(i) <R P

one-way classification

(i) PR I

two-way classification
(iii) TR I

three-way classification

(iv) I R

no classification
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2. oS frml oy Se ot

(4)

Answer the following questions :

(a)

(b)

(c)

(@)

(e)

Define treatment and 1 i
examples. pot - with
3. R @ B Sow

Answer any fwo :

(a) aﬁmmw‘mw%m«mﬁmw
T SReat (7 2o ) |
Obtain the Conﬁdence interVaJ for
coan and - variance of g al
distribution in Case of Jorm
problem. one-sample
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gfemfes aftm 3% Iene & gm0
What do you mean by sampling
distribution of a statistic?

o5 A9 Ry S &5 52 I w0
What are the two types of error in
testing of hypothesis? Explain it.

Go TR o 5 w2
What do you understand by Yate’s
correction?

AT IR B AW fowr ey
@7

When would you apply sign test for
symmetry? '

TR WIF TG K@ BRI BILS oy |

( Continued )

2x5=10

5x2=10

(S)

(b) Sleof Q1 I 5 7 e oI e
*45F WIT Rew AFe9 ] | 2+3=5

What do you mean by test of
significance? Define null and
alternative hypotheses with examples.

(c) eIy 571 5! efonfe Mg e«
@eME I =, I 1
Explain the procedure of testing the

significance of mean of a normal
distribution in case of two samples.

4. (@ Fw g P BT @W? T BF TwS
TEE IR @ AR o TR PR3 A
REE T W, eEndl I 2+5=7
What is categorical data? Discuss how
chi-squared test is used to test the
association between two attributes.

w< / Or

(b) RN 2R AR AGTF PRI o[
e dfonfs @Bl W Raiks we
IRRIES 71 oy MR FA T | oo
SR A_ RH w4 @ GRS 52w ke
F SRR FEg SgAS T 7
From the adult male population of four
large cities, random samples of sizes

given below were taken and the
number of married and unmarried
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men. was recorded. Test from the
following data that the proportion of
married men to unmarried men is same
in all the four cities :

City (79R) A B C D Total ()
Married (RIR®) 137 164 152 147 600
Unmarried (9RAI%®) 32 57 56 35 180
Total () 169 221 208 182 780

5. (@) oI QWF Sl o&¥wR AT
Afendetor foral |

RIS A AR o R codreires
ST (MTeT) «F RCR I Qi Siors w1
Prze ez 79 TA| N w9 5% 1 oz

WP AW ST @O IR @
W%WW' 1+6=7

Write the test statistic for the
significance of correlation coefficient

Ten women are randomly selected and

their weights (in Ibs) are
before and after they are ocorded

new weight loss diet jg
Weight before diet
(Rer @1ZR
W S%)
Weight afier diet
(ReT8 &12R IR
freg gem)

effective -
180 178 165 200 169 145 170 210 185 155

17
4 181 157 198 5, 150 160 205 178 160
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(7))

WW/ Or

() foz ~RAwle =y IR TPH  CEWA
A FRAA? SN qol-afomd S _Fwitht
Rexeim [t 41 2+5=7
How to resolve the problem of zero

differences in sign test? Explicate
Wilcoxon’s two-sample test.

PR ReRR = sfeeRirR & 7 iR
fordy cfietar (af Sl ive @Bt S
ol 31 ¥ ) epTed RuET o@s M 3+8=11
What are the basic assumptions made
in analysis of variance? Work out the
analysis of variance for a two-way

classification of data (one observation
per cell).

93/ Or

(b) “Rret SR T ACR/ R F4
AT qe AW ARERT RPN S
]I 7+4=11

6. (a)

Explain the basic principles underlying
the design of experiment. Write the
advantages of randomized block design.
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